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The review of an order of suspension shall be

done by the authority which is competent to

modify or revoke the suspension, on the

recommendation of

(a) the review committee constituted for the
purpose

(b) the suspension committee constituted

for the purpose

(¢) the high powered committee constituted
for the purpose

(d) the Head of the Department appointed
for the purpose

Which one of the following rules of the
Railway Servants (Discipline and Appeal)
Rules, 1968, deals with the provisions of

suspension ?

(a) Rule 10
(b) Rule9
(0 Ruleb
(d Rule2

Which one of the following deductions does
not come under compulsory deduction from

subsistence allowance ?
(a) Income Tax — where due
(b) Hospital diet charges

(¢) House rent, electricity charges, water
’ charges

(d) Subscription to Railway institutes and

clubs

(3-A)

Consider the following statements:

A Railway servant shall be deemed to have
been suspended by an order of competent
authority in the following cases :

1. With effect from the date of his
detention, if he is detained in custody
whether on a criminal charge or
otherwise, for a period exceeding
48 hours.

2. With effect from the date of his
detention, if he is detained in custody
whether on a criminal charge or
otherwise for a period of 24 hours.

3.  With effect from the date of his
conviction, if in the event of conviction
for an offence, he is sentenced to a term
of imprisonment after exceeding
48 hours and is not forthwith dismissed
or removed or compulsorily retired
consequent to such conviction.

4. With effect from the date, he intimates
to the office about his detention.

Which of the above statements is/are not
correct ?

(a) 1lonly
(b) 2only
(¢ 2and4
(d land3

The sealed cover procedure is not applicable
to:

(a) Government servants under suspension.

(b) Government servants in respect of
whom a charge sheet has been issued
and the disciplinary proceedings are
pending.

(¢) Government servants in respect of
whom prosecution for a criminal charge
is pending.

(d) Government servants against whom a
complaint has been received but
no proceeding is in process.
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In terms of which one of the following rules of
the Railway Servants (Discipline and Appeal)
Rules, 1968, an order of suspension made or
deemed to have been made shall continue to
remain in force until it is modified or revoked

by the authority competent to do so ?
(a) Rule 5(5)a)

(b) Rule 3(5)(a)

(¢ Rule2

(d Rulel

Consider the following statements :
The situations where suspension is an

instantaneous remedy required to

use immediately to save any further damage :

1.  Continuance of the employee in work

might endanger the safety of public.

2. His continuance might entail serious

damage to Railway property.

3 He has done misbehaviour more than
once in public dealing.

4.  His continuance in work might prejudice
the inquiry into the charge or might lead
to the loss of relevant records

or evidence.

Which of the above statements is/are not

correct ?
(a 1,2and3
() 1land4

¢ 1,2,3and4
(d 3only

(5-A)

Which one of the following statements is
correct regarding the death of any employee
while under suspension, before  the
disciplinary  proceedings or the court

proceedings against him are concluded ?

(a) The period between the date of
suspension and the date of death shall
be treated as duty for all purposes and
his family shall be paid the full pay and
allowances to which he would have been
entitled had he has not been suspended,
for that period subject to adjustment of

subsistence allowance already paid.

(b) The period between the date of
suspension and the date of death shall
be treated not as duty for all purposes
and his family shall not be paid
any dues for the period of suspension.

(¢) The period between ‘ the date of
suspension and the date of death shall
be treated as duty for all purposes and
his family shall be paid the full pay and
allowances to which he would have been
‘entitled had he not been suspended, for
that period subsistence allowance will

not be taken into account.

(d) The decision will be taken as per
outcome of disciplinary proceeding

or the court proceedings.
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9. Which one of the following penalties does not 11.

come under the category of minor penalty ?
(a) Censure

(b) Withholding of increments of pay for a
specified period with further directions
as to whether on the expiry of such
period this will or will not have the
effect of postponing the future

increments of his pay

(¢) The period of reduction to time scale of
pay, grade, post or service shall operate
to postpone future increments of his pay

and if so, to what extent

(d) Withholding of the privilege passes or

privilege sticker orders or both

10. Which one of the following statements is not

correct regarding censure ?

(a) Itis a written warning which is added to
CR.

(b) It affects any other service rights in a

serious way.

(¢) It does not affect any other service

rights in any serious way.

(d) It does not affect yearly increment.

SAAI-B-PXM (7-A)

Consider the following statements regarding

joining of associations or unions by Railway

servants :

1.

It is not permissible for a Gazetted
Railway servant to join any association
of non-Gazetted Railway servants like
a Railway Employees Union.

When a non-Gazetted Railway servant
who is a member of Railway Employees
Union is promoted to Gazetted
rank, either in an officiating or
permanent capacity he shall resign his

membership of such Union.

If, however, the officer concerned
satisfies the General Manager of the
Railway' concerned that by such
resignation he will lose financially or
otherwise under any beneficent scheme
organized by such Union such as death
or accident insurance, he may be
permitted to continue as an
ordinary member, but not as office

bearer or representative, of that Union.

The responsibility for satisfying the
General Manager in this respect will

rest with the officer concerned.

Which of the above statements is/are correct ?

(a)
(b)
(©
(d

1 and 4 only
2 only
2 and 3 only

1,2,3and 4
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14.

15.
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Rule 18-A of Railway Services (Conduct)
Rules, 1966, is related to

(a) connection with press or radio
(b) gifts
(¢c) transactions in movable property

(d) transactions in immovable property

outside India or with foreigners

Communication of official information in

accordance with Right to Information Act 2005
is permitted under which one of the following
rules of Railway Services (Conduct) Rules,
1966 ?

(a) Rulell
(b) Rule 18
(¢) Rule9

(d) Rule 8(2)

Railway servant is barred from editing a
Newspaper without prior permission of the
Government under which one of the following
rules of Railway Services (Conduct) Rules,
1966 ?

(a) Rulell
(b) Rule2
(¢©) Rulel9
(d Rule8

Rule 13-A of Railway Services (Conduct)
Rules, 1966, is related to

(a) Dowry

(b) Criticism of Government

(¢) Accepting subscription

(d) Participating in political rally

16.

14,

(9-A)

Which one of the following is net correct as
per/ Rule 15(1) of Railway Services (Conduct)
Rules, 1966, subject to the provisions of

sub-rule (2) ?

(a) No Railway
with  the
the Government, engage directly or

shall,

sanction  of

servant except

previous

indirectly in any trade or business.
(b) No
with the previous

the

Railway shall,

sanction  of

servant except

Government, negotiate for, or

undertake, any other employment.
(¢0 No Railway
with  the

the Government, hold an elective office,

shall,

sanction  of

servant except

previous

or canvass for a candidate or candidates

for an elective office, in any body,

whether incorporated or not.
(d) No Railway servant shall, except
with the previous sanction of

the Government, join a political party.

Rule 17 of Railway Services (Conduct) Rules,
1966 is related to

(a) Insolvency and Habitual indebtedness
(b) Investment, lending and borrowing

(¢) Subletting and vacation of Government

accommodation

(d) Public - demonstrations in honour of

Railway services
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18. Which one of the following statements is
correct regarding Rule 20 of Railway Services
(Conduct) Rules, 1966 ?

(a) No Railway servant shall, except with
the previous sanction of
the Government, have recourse to any
Court or to the Press for the
vindication of any official act which has
been subject matter of adverse criticism
or an attack of a defamatory character.

(b) No Railway servant shall bring or
attempt to bring any political or
other influence to bear upon any
superior authority to further interests
in respect of matters pertaining to his
service under the Government.

(¢ No Railway servant is allowed to sublet
the Government accommodation.

(d) No Railway servant shall acquire, by
purchase, mortgage lease, gift or
otherwise, either in his own name or in
the name of any member of his family,
any immovable property situated
outside India.

19. A Railway servant is restricted to consume
alcohol within
(a) 8 hours before commencement of duty
(b) 10 hours before commencement of duty
(¢) 12 hours before commencement of duty
(d) 16 hours before commencement of duty

20. Which one of the following rules of the
Railway Service (Conduct) Rules, 1966, deals
with prohibition of sexual harassment of
working women ?

(a) Rule4

(b) Rule 4(A)

(¢) Rule 3(B)

(d) Rule 3(C)

SAAI-B-PXM

21.

22.

(11-A)

A Railway servant who is dismissed or

removed from service but is reinstated

on appeal or revision, is

(a) not entitled to count his former service
for leave purpose.

(b) entitled to count only leave on average
pay for former service for leave purpose.

(¢) entitled to count his former service for
leave.

(d) not entitled to count leave not due from
former service for leave.

What do you understand by the term
“Withholding Next
specific period ?

Increment” for a

1. It implies that all increments falling due
during that period would be withheld.

2. One increment should be withheld over
a specific period.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2 only

(¢) Both1land2
(d) Neither 1 nor2

In which of the following circumstances, leave
shall not be granted to a Railway servant ?

(a) When the Railway servant is in the
habit of applying for leave frequently

(b) When his immediate
proceeding on leave

superior is

(¢ When the competent authority has
decided to dismiss, remove
or compulsorily retire him from service

(d) When the Railway servant intends to
leave the  headquarters  during
the period of leave
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. F=afefaa a1 w fmm i -

I 9% & G99 § “H=g a1’ 1 909 B ¢

1. w4 foelt @ ofiemn 4 sas g &
ST A |

2. WA @R % freft faelt vgaemas=
Ir & fae afafgie w 3as gr wem
1 S @ Fan |

3. 9% 41 e U 98 WRAASA/EE T
g i gufra Py & smen fedt o=
Eid | 99 ITH T 2 |

394 A ¥ BE-T1/HH-T H9F 98 787 2/2 ?

(a) had 1

(b) Had 2

(¢) Had 3

d 1,23MW3

(12-A)

27. et i 1 I afwar feufa & faaa &

ey A IFgEe ¢ & fore smer gwamEty s
Bt 2 2

(a) Ygg f&
(b) TS HIE
() AR

d TS

. JARRY  (Surplus) HHETRA + Hag H

Fafafea 4 @ S9-w1 s wd 22

(a) ARy HHIR, 78 IF (3HE) | 79
Iitgdl & YEISE 8, I gr fuselt e
H WgH i TS G& HG1 B A1H TH HH +
ThER B |

(b) Ay wHERE W, FAH afmar &
YIS &, U Ya3it & ®9 A TE A1 SIan
2

(¢ Aty =i w FH afma *
T 4, Hidft weff & w9 4 7 e S
2

@ Ry wiE, 98 e (3HiE) § ot
afEa & Wi A ol e I §
e H T8 g9 FET H AH TH FH B
FheR T8l ¢ |
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Which one of the following statements is
correct regarding earned leave ?

(a) A Railway servant is entitled to thirty
days leave on average pay in a calendar
year.

The period of thirty days will be credited
at the end of the year.

The period of thirty days will be credited
in two installments of 15 days each on
15 of January and 1% of July every year.
The period of thirty days will be credited
in four quarterly installments every
year.

(b)

(c)

(GY)

A Railway servant involved in legal
proceedings in the execution of performance of
official duty

(a) cannot claim reimbursement of legal

expenses under any circumstance.

(b) can prefer his claim directly to the
Ministry of Law and Justice.

(¢) can prefer his claim to the pay and
accounts officer.

(d) can prefer his claim as per provisions

contained at paras 701 and 702 of the
Indian Railway Establishment Code,
Vol-L

Consider the following statements :

“Foreign Service” in respect of a Railway

servant means

1.  Service rendered by him in a Railway
project in a foreign country.

2.  Service rendered by him on deputation
to any foreign embassy/high commission
of the Government of India.

3 Service during which he receives pay

from any source other than the
Consolidated Fund of India/of a State/of
a Union Territory.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) 3only

d 1,2and3

217.

(13-A)

What is the time period allowed to the staff for
representation about the assignment of their

seniority position ?

(a) Fifteen days
(b) One month
(¢) Three months

(d) Ome year

Which of the following statements is correct

regarding the surplus employees ?

(a) The surplus employees are entitled for
the benefit of the past service rendered
in the previous unit for the purpose of

their seniority in the new unit.

(b) The surplus employees are not treated
as fresh entrants for the purpose of their

seniority.

(¢) The surplus employees are not treated
as direct recruits for the purpose of their

seniority.

(d) The surplus employees are not entitled
for benefit of the past service rendered
in the previous unit for the purpose of

their seniority in the new unit.



29. f=afafaa st w fomm Sifsw -

30.
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FHar faemy A & s < ot €
1. A & ww ot wiEt

2. W-ToNfEa HHEiEl % wios Y 99|
& teq I 78 iy < gt ot

3. 94 =8 g fafea i 18 vt =fe T W
A & T4 | WTH a1 TeH

4 AYSH dd9 W, Sl HAYH AT IAh
ITThIE] 1 SAAT-YaT AR A & i
g9E | 3 94 ¥ A 9T | ved |

374 A ¥ HH-T HYF T& B ?

(a) had 1,2 IR 3

(b) ad 1, 3 3R 4

(€ ad 2, 3 K 4

@ 1,2,33W4

frfefga seai w foam Sifs -

e % fed # U de 8 g el H
THEW W I o $I afmar &1 fafeme
Bl @

1. 39S H fghe il ada ¥ |

2. vgHEfd H aE ¥ |

IE A A HH-FI/HH-H FIF G 2/2 ?
Fad 1

(b) e 2

© 13K 23H

Fd, AR

(a)

(d

31.

32.

33.

34.

(14-A)

TA9d o399 % WTEeH! Sl i a1 | e w9 A
e fohan i R 2

(a) M I AT

(b) SATEATHS feoquft

(¢ H&A 3R Moy i 6 g=h

d 9% §% (Pink book)

Frafafga suat w fomm Hifse -
3eH i 7 W fRas g1 wagH R S
yufer g @ ?

1. TsEaW
2. @ gl

I § ¥ HH-TI/RH-] FHUT T 2/2 ?
(@) $ad 1

(b) haA 2

© 13R2eH

@ TAM1L,TH2

IHIRG S T BT 8 ?

(a) o4, WA <l dfua By & warfa gan 2 |
(b) I, Wi @l & T9IRG B 2 |

() =49, ATehicushar B & wwiita gren 2 |

@ =@ w1 fafol ya fi s=a =R

SR §AT R |

Frafafga & @ sF-w wwnf@ =@ &1 Jwen
TR

(a) HITS % Hag F 9a9 R TvH

(b) Id W1 F HAANET H1 I R A
¢ Tl =mmea 6 fosht oir arfafaol

(d) WIS Y=



SAAI-B-PXM

Consider the following statements :
The Staff Benefit Fund is credited with
§ & all receipts from fines.

2. all receipts from forfeited P.F. bonuses
of Non-Gazetted staff.

% annual grant from revenues of the
Railway at per capita rate prescribed by
Railway Board.

4. unpaid wages remaining unpaid for
more than 3 years on account of

whereabouts of the employee or their
heirs being not known.

Which of the above statements are correct ?

(a) 1,2 and 3only
(b) 1,3 and 4 only
(¢) 2,3 and4only
d 1,2,3and4

Consider the following statements :

Seniority of Railway servants on transfer from
one cadre to another in the interest of the

administration, is regulated by

1.  the date of appointment to the grade.

2.  the date of promotion.

Which of the above statements is/are correct ?
(a)
(b)

1 only
2 only
(¢0 Bothland2

(d) Neither 1 nor 2

31.

32.

34.

(15-A)

The estimates of voted expenditure are to be
submitted to Lok Sabha in the form of

(a)
(b)
(©
(d)

Demands for grants
Explanatory note
List of major and minor heads

Pink book

Consider the following statements :

The demands for grants are required to be
voted by

1 Rajya Sabha

2: Lok Sabha

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢ Both1and2

(d) Neither 1 nor 2

What is charged expenditure ?

(a) Expenditure is charged on the
Consolidated Fund of India.

(b) Expenditure is charged on the Public
Accounts.

(¢0 Expenditure is charged on the
Contingency Fund.

(d) Expenditure has been ruled by the
Supreme Court of India.

Which of the following is not the case of a
charged expenditure ?
(a) Salary and pension in respect of CAG

(b) Salary and pension of staff of Railway

Board.
Decree and award of any court
Arbitration award

(e)
(d)



85. WY1 % AR W, T 1o i

37.
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(a) o9 9 B4 7, Sed figs o & forg
rfas IAfhe, 96 99 & fou weiftE
ek R It 9§ & fow e
WTaherd afeferd & |

(b)
It s, a6 9§ % fore wwifia
ke 9 IR M 9§ % fom wwe
ekl afsfad & |

(¢ @ a, I 9§ & foru snfdE wrereReH
AR It ad & o wee wEemeH
afefera & |

Fad 9] 94 b foU S9N Wehed
wftfera € |

(d)

G HI AR W AlH GHT g FagH Iufda

(a) I Tl TN &+ fow

(b) Faa Faa oy & fore
(© gHIia Uiy #I B = faa ufr %

(@) S9IRE TR = Bis X T TRT & forw

qifte foxfia foawn & gawa ot ywifa ==
2 STHT BT 2, $EHT Sg@ WRA & Hiad™
% Frafafiga fora sg=ag & R M 2 2

(a) IT=T 112(a)

(b) 3IFT=RT 113(2)

(© IT=R% 114

d =g 110

WR o fed fed @ awi & fow|

38. Tmafafaa wemt v fomm Hifs -

39.

(16-A)

G i freffad afe % s ff
e % st Yo S F sk o @
w I & 0 Ife § e w R
A R

1. Uy viesy ffY ok to ardaa ity &

qeq

2.  Tog IR fify otk e fam fifa &

Teq
394 | | HH-T/HH-8 FF T 2/E ?
(a) e 1

(b) FIA 2

© 13K 2HE

@ JIAM1,Td2

o %/l =19 wem foRan St @
(a) @ A * A
(b) THA AT F e
(¢ <R A % e

(d) 9iE | % AHH



As a matter of practice, every. Railway budget

35.

contains

(a) three elements comprising actual data
for the previous year, revised
estimates for the current year and
budget estimates for the coming year.

(b) four elements comprising actual data
for the  previous two  years,
revised estimates for the current year
and budget estimates for the coming
year.

(¢) two elements comprising required
estimates for the current year
and budget estimates for the coming
year.

(d) only budget estimates for the current
year.

36. The demands for grants are required to be
voted by Lok Sabha for

(a) gross amounts only

(b) net amounts only

(¢) net amounts excluding the charged
amounts

(d) gross amounts excluding the charged
amounts

37. The annual financial statement needs to show
voted and charged expenditure under which
one of the following Articles of the

Constitution of India ?

(a) Article 112(a)

(b) Article 113(2)

(¢) Article 114

(d) Article 110

SAAI-B-PXM

38.

39.

(17-A)

Consider the following statements :

Appropriation of funds is permissible from
one unit to another from the amount allotted

to Railway administration wunder the

Civil Grant under the following units of

re-appropriations :

: G between State Provident Fund and
Revenue Reserve Fund

2 between Revenue Reserve Fund and
Railway Development Fund

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

The works expenditure is provided under
(a) two demands

(b) a single demand

(¢) four demands

(d) five demands
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40. fofa oy & wag # f=fafea #

-1 /PH-T o @& 2/% 2

1. focfia e o o %1 o dee g R
R g et off amet A W@ W6 *

e & Wi SaTees BT & |

2. ol sy o@ €€ #1 w Gew Bl @
3R & &S | foret oft wawe & 9wt A
38 1A Tt I Teqd 1 R |

3. fadta s to@a 9IE %1 0% 9 BT @
3 98 W@d @€ # fom wft @ wiaffy
BT ¥ A1 36h U Wade » fhet ot
et 1 fom Wt A A9 F TR g
21

= fu T e F @ W @ IW gAT
(a) a1

(b) Had 2 3K 3

(©) ad 3

@ 1,23W3

(18-A)

. fafEm @@ % "ag 4 Feafafes s w

ﬁ?ﬁﬁﬁq:

1. qa e @ fafam w1 fiem Faw
dfem areE @ frw W ® o T
foreror it =wen i STt R |

2. Jifqw o1gem I fafiem +1 fem S
I8 % Irdfadas =49 ¥ o s 2 3k
T foreror < =men & S R |

3. Ha e @ fafEm = fem sifw
el o fafeeat | feen s @ o
a1E A i oo e ad & arafas ==
¥ fopen wrn 2 3R 3 foor it =
# It R |

Frafafed # @ SH-|/HH-8 w9 b8l 2/ ?

‘(@) had 1

(b) had 1 3FR 2
(c) Had 3

@ 1,233

. “Tud Tl % e | IR 9 9Nl % o

fftmi it win”, frefefaa 4 @ 58 wa1 ST
R?

(a) 3TTEd qHiE

(b) 3ifew smenes

(¢ UReNfYa 3R s Wrea

@ focfim afian
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40. Which of the following statements is/are

correct regarding Financial Commissioner ?

1. The Financial Commissioner is one
of the members of the Railway Board,
and he is responsible towards the

Chairman Railway Board in any case.

2 The Financial Commissioner is one of
the members of the Railway Board, and
he is to submit to Minister for

Railways in case of difference of opinion

with the Railway Board.

3.  The Financial Commissioner is one of
the members of the Railway Board,
and he 1is the representative of

Finance Minister on Railway Board and

has the right to refer the matter to the

Finance Minister in case of any

difference of opinion.

Select the correct answer using the code given
below :

(a) 41 only

() 2 and 3 only

(¢0 3only

(d 1,2and3

41.

(19-A)

Consider the following statements regarding

appropriation accounts :

1. The original grants or appropriations
are compared with final grants only and

variations explained.

2. The final grants or appropriations are
only compared with actual expenditure

of the year and variations explained.

3. The original grants or appropriations
are compared with final grants or
appropriations and later again compared
with actual expenditure of the year and

variations explained.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 1and2only
() 3only

(d 1,2and3

Which one of the following is referred as ‘funds

for successive two years are asked through

budgetary review’ ?

(a) August review

(b)  Final modification

(¢) Revised and budget estimate
(d Financial review



43.

45.
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Frafafea wemt w fomm s -
wigsy ffer @ra & s & wiftrer 8
1. it it St

2. IrEyrht ifim

3. 3ifow Femdt

4. &=

I9YH A ¥ HH-T HUF 98 & ?
(a) had 13 2

(b) had 23R 3

(¢) Haa1 IR 4

@ 1,2,33R4

frfafiea st w famm fifsw -
g ffy ogum 4 W@ U gEw (3s9)
o

1. A 3R A E

2. Hifeas R A ed &
I § A B o T B/ -
(a) ad 1

(b) HaA 2

(© 132

@ TML, T2

wfesy ffyr & Qs A

(a) a9 % INH g™ 3R TR 1 TehaT 7 |
(b) 99 % SNE QI IR TGRS el 2 |
(© 99 % TNH QI IR T ST Fohall 2 |

() 99 % E T q ST ST Hehal & IR
E1 ST S Gehdl B |

46.

47.

49.

(20-A)

ufesy fify @ (SR) | wtg el =t fhaw

arT H T e 8 2

(a) < 9PN A

(b) o uFn g

(¢) TR W H

(d uig 9 A

frafafga # @ s9-a, vioss f7fy @ sfm

YeH HH o [T AW Ydl 1 Tsh 9T 7g7

??

(a) AW H Tl = Gfga FveE K i |
rfees & gt |

b) TH & AUH @ F UH W AW wepa
T fopu Sma |

(0 T ¥ A @Id ¥ Th WY ABH wpa
fopu 9 € |

@ witeet fofga 3 AW wem @ =
HRUT TS HUT|

wigsy fify @ <ifm fFreerht v ==t + o

g o

(a) ATEfar 6t 3 IH HH § 8 IY H FH
I 7

(b) Afafar At =g w9 FE H 5 99 F FH
I 7

() Afaftiar it =g WH HH A 10 9§ & FA
I B

@ Afafiar H =g W HE H 15 96 4 FH
Iy 7

quia =39 & ey # F=fafgs 3 @ |-

YT TE B ?

(a) I8 A % &7 ¥ ST BT R |

(b) IE TAUA AEH I ¥ BT B |

(© TH WG % A d@l & we-II0 & =19
Qrd § gt S R |

(d) IE 9Rd & UPYd & IIgHIGT & NEAHH
B |
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43. Consider the following statements :

The credits to the provident fund accounts
comprise

1.  refund of advances
2.  temporary advances
3.  final withdrawals

4. interest

Which of the above statements are correct ?

(a) 1and2only
(b) 2and 3only
(¢) 1and4only
@d 1,2,3and 4

Consider the following statements :

The index registers maintained in the
provident fund section are

1 debit and credit
2.  numerical and alphabetical
Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2
(d) Neither 1 nor2

The voluntary contribution to provident fund

(a) may be reduced and enhanced during
the course of the year.

(b) may be enhanced twice during the

course of the year.

(¢) may be reduced twice during the course
of the year.

(d) may not be reduced or enhanced during

the course of the year.

47.

49.

(21-A)

Check sheets from the provident fund ledgers
are kept in

(a) two parts
(b) three parts
(¢) four parts
(d) five parts

Which one of the following does not form a

part of the general conditions for grant of

advance from the provident fund ?

(a) The advance shall not exceed the
amount  of together

with interest.

subscription

The advances on more than one account

(b)
are not sanctioned simultaneously.

(¢) The advances on more than one account
are sanctioned simultaneously.

(d) The authority shall record in writing the

reason for granting the advance.

Final withdrawals from the provident fund are
allowed to a person who has less than

(a) 8 years to attain the age of
superannuation :

(b) 5 years to attain the age of
superannuation

(¢ 10 years to attain the age of
superannuation

(d 15 years to attain the age of
superannuation

Which one of the following statements is
correct regarding charged expenditure ?

(a) It is outside the scope of demand.

(b) Itis apart of voted grants.

(¢) It is shown in Part III — Public Account
of India in current account.

(d) It is subject to the approval of President

of India.



50.

51.

52.

53.
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THe o % fom W R qea: fafafea § @
form wadi wfafa & g e 2 2

seftrey faume ofufa, sl sweme
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Todr TSt |fafa § fora wew g € 2

(a)

(b)

(© TS 89 ¥ 15 6

(a)

ST 991 9§ 25 9ced
TSI G491 ¥ 20 9

(d) TS 991§ 10 9

GO TS Gty o1 wdaen &l & v |
FS Il 6 TiE HE @

(a) Serfors GEEl |
(b) TIER A
(¢) TST GTHRI H WEHT TS & fog

(d) Y H AEHT TS & forw

TawT fufem, 1963 i Ffafea fea
g & A W & ugufd sEdE e
wfufd g weqa awed frd an 3ash foeedt wm
% IrgER Few g Wt 2

(a) 9 3(3)

(b) HW 5

() YT 4(4)

d 96

54. WY 3 VW T & A4 TR & forw fopm v

55.

56.

(22-A)

&1 v1m forn Srom e aewe % w9 9 7
w1 i TR 787 v 2 2

(@) I

(b) dfae

(c) sh

@) gefya & wm

et rfafEm, 1963 it F=fefaa fora am

# 3g@ femn m g 6 ¢ Rl @ @ wrfinm R,

fedt foraeht fafy qamrdt 27 2

(a) 9T 3()

(b) 1 2(Q)

(c) T 4

(d) om 2(m)

Frafafea 4 9 sH-H gfcs aoa el &
m@iﬁﬁvﬁtsﬁtﬁrﬁﬁzﬁﬁﬂzmﬁ

% fore w18 et @ 2

(a) HATH

IR AIE g
(c) %{1@

(b)

(d) 3IqT& J&Ih



51.

52.

53.

Parliament exercises control over Railway
finances mainly  through  which  of
the following parliamentary committees ?

(a) Committee on Subordinate Legislation,
Committee on Government Assurances,
and National Railway Users
Consultative Council

(b) Public Accounts Committee, Estimates
Committee, and Railway Convention
Committee -

(¢0 Railway Rate Tribunal, National
Railway Users Consultative Council,

and Estimates Committee
(d) Public Accounts Committee, Railway
Rate Tribunal and National

Railway Users Consultative Council

The Committee of Parliament on Official
Language consists of

(a) 25 members from Council of States

(b) 20 members from Council of States

(¢) 15 members from Council of States

(d) 10 members from Council of States

The duty of the Committee of Parliament on
Official Language is to review the progress
made in the use of Hindi

(a) in educational institutes

(b) in communication

(¢0 for the official purpose in the State
Governments

(d) for the official purpose of the Union

Under which one of the following sections of
the Official Languages Act, 1963, the
President of India may issue directions in
accordance with the whole or any part of the
report submitted by the Committee of
Parliament on Official Language ?

(a) Section 3(3)

(b) Section 5

(¢) Section 4(4)

(d) Section 6
SAAI-B-PXM

54.

55.

(23-A)

Which language shall be used for the purpose
of communication between the Union and a

State which has not adopted Hindi as its

official language ?
(a) Urdu

(b) Tamil

(¢) English

(d) Concerned regional language

Which one of the following sections of the
Official Languages Act, 1963, states that
“ ‘Hindi’ means Hindi in Devanagari Script” ?

(a) Section 3(a)
(b) Section 2(b)
(¢) Section 4

(d) Section 2(c)

Which one of the following books is

maintained for keeping note of
important rulings and decisions for ready
reference ?

(a) Call book

(b) Sectional note book

(¢) Case book

(d) Precedent book



57.

58.
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Fr=feafga 4 @ F9-9 YR $ Teaa § gHiE
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(b) Gifera W@ 3 Fulf safa & w98 #==
3
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61.

(24-A)

qRa il AeRfEEsar Ay (CFI) & deg #
fefafea i a PR-a s adi 2 2

1. CFI 9rad i feasar Ffa 4 4 @
AT =& Hl U HE F fow 2, B

- W e H e T8 e e o o 5
iR g @ T R 1 E
Gl

2. CFI ¥ 3mefa ufyr A, @8g % ol &
T A IS ISEI hI A TeE HE
% dehia @1g CFI 1 gfagfd i s @it
71

3. CFI = tod foa oy & arfer # w@n

™R

4. CFI ¥ W % WRd & Ugdfd g
FrgAifea feman ST B 2 |

9 feu T Fe w1 T W gd s ghT
(a) Had 2,3 IR 4
(b) e 1 3K 3
(c) had 1,2 3R 3

(d) had 1,2,337N 4



57. Which of the following are published in the
Gazette of India which are available both to
the public and the press ?
(a) Official publications and reports
(b) White papers and reports
(¢) Press releases and publicatioﬁs
(d) Notifications and resolutions
58. Classifying files for record under class ‘A’
means
(a) keep for specified period only
() keep and destroy after specified period
(¢) keep but do not microfilm
(d) keep and microfilm
59. Files of a purely ephemeral nature containing
paper of little reference or research value, may
be destroyed after
(a) one year without being formally
recorded

(b) two years without being formally
recorded

(¢) three years without being formally
recorded

(d) four years without being formally
recorded

60. Which one of the following is not required for
maintenance of registers/dairies ?

(a) Case book

(b) Precedent book

(¢)  Sectional note book

(d) Call book
SAAI-B-PXM

(25-A)

Which of the following statements are correct
with regard to Contingency Fund of India

(CFD) ?

1. CFI is carried out of the consolidated
funds of India to meet unforeseen
expepditure not contemplated in the
budget and also cannot be met out by

re-appropriation.

9.  The amount withdrawn from CFI is to
be re-coupled to CFI immediately after
taking the supplementary demands
for grants in the very next session of

Parliament.

3. The CFI is placed at the disposal of the

Financial Commissioner for Railways.

4. The withdrawal from CFI is to be

approved by President of India.

Select the correct answer using the code given

below :

(a) 2,3 and4only
b 1 é\nd 3 only
(¢) 1,2 and 3 only

d 1,2,3and4
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62. ISl % Hay # Ffafed d @ w-w .

&2 ?

(a) 9 H 16 IFEH T § AR A
Had Hehd AN W GEE H A9 G
? 1

a I 16 IFEH AR § 3R IFEET Hi
Hae Faet Al W G9e %1 59 fa B |
e H 14 A AR § 3R IEeE hi
Tha AT R et |, 3 W wEe W
T4 3T 2 |

@ W 14 IEE W F IR EEE A
g T, shise a@fm stk faa aim w
HHe 1 7d 37Ufa B |

()

(e

. wwe § agw W W e wS @ v,

frfafea 3 @ fFas adiw wra & wgofy A
gefa ww it I =R 2

HRA & HlGUH 1 =g 113(3)

WA % |lau™ 1 =g 110

WA % Hiau™ &1 3wae 112

AR % HfagH & s 115 % @ 1
3R 2 & |1y ufed

(a)
(b)
(¢
(d)

. W@ Jyia = w R dg sgem @

HEHASH % ghn QU T R 1 wehar qon
“T$ Ha1/Ta1 F ¢ g9 et =g HY, 7
wSe § Igeaa @ fhan w9, wwa f 3w
rhferRal FifY % 9w & @ g fen smem, s

a fod oy & SR8 § 3
HEH, St o rfeehr-am # 2
HeAY, 19 9IS & AHR-87 7 B
& Wt & rfoemr-gm | R

(a)
(b)
(©)
(d)

65. Ffafaa & & fomem, @S @ o7 787 e

67.

(26-A)

S ?
(2) Y A arE

(b) TRl VB TFM & T@w@E Hi arE, B
w1 % fore & 78 foman o 2
(© 8 @At & fmior i vom @

@ =& % fow g& fpr T e dwm &
I H AT

HT @& 16 % FT w0 faqwo w1 % e
T S w8 2

{(a) 33

b)) 34
(¢ 36

d) 37

-l & aRene" & YA &1 @i fha
AT & % e SR S 2 2

(@) 1
(M) 2
c 14

(d 15
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62. Which one of the following statements is

correct regarding grants ?
(a) There are 16 demands for grants for
Railways and the vote of the Parliament

is required only on gross demands for

grants.

(b) There are 16 demands for grants for
Railways and the vote of Parliament is
required only on net demands for grants.

(¢) There are 14 demands for grants for

Railways and the vote of Parliament
is required on both gross demands and
net demands for grants.

(d) There are 14 demands for grants for
Railways and the vote of Parliament
is required for gross demands, credit

demands and net demands for grants.

Before the demands for grants are presented
to the Parliament the recommendation of the
President of India should be obtained under

(a) Article 113(3) of the Constitution of
India

(b)  Article 110 of the Constitution of India

(¢) Article 112 of the Constitution of India

(d) Article 115 read with Clauses 1 and 2 of

the Constitution of India

Unforeseen expenditure which cannot be met
from re-appropriation from existing grant
and expenditure for a “New Service/New
Instrument of Service” not contemplated in
the budget, shall be met from out of the
balance in the Contingency Fund of India
placed at the disposal of

(a) Financial Commissioner for Railways

(b) Member, Engineering
(¢) Chairman, Railway Board
(d) Minister of Railways

67.

(27-A)

Which one of the following is not borne by

capital ?
(a) Cost of land
(b)  Cost of maintaining a section not opened

for working
(¢) First cost for construction of new lines

(d) Cost of maintaining a section opened for

working

Plan head for traction distribution works

under demand number 16 is

(a) 33
(b) 34
() 36
@ 37
Payment towards amortization of

over-capitalization is  budgeted under

demand number
(a 1

by 2

© 14

d 15



68.

69.

70.

SAAI-B-PXM

Freafeiaa sl v foem Hif -
iRaR IrEeEhd =99 % foaw &

1. SThe i ATEEHAT Tl 7G
2. rFhed § iU T

3. fafeu=m

304 § ¥ HH-9 HYT A B ?

Had 1 IR 2

(b) Had 2 IR 3

(¢ Had 1 3R 3

1,2 3R 3

(a)

(d)

qd % dfoun % Frefafea sg=ed 4 @
H-a1, fatEm fadas & IwEg = smEfia
T ?

(a) TT=R% 112(1)

(b) 3BT 113(2)

(© 8% 114(1)

@ ¥T=D% 116

Frefafaa ot w faem il

FR T gEESE fohe ST

1. A ¥ 9 A g

2. Yiaid ATel [ 8 W A g
30 § ¥ HH-T1/HH-8 HI e 2/ ?
(a) Had 1

(b) wHad 2

(© @M LAR2

@ 13K 2H

(28-A)

71.

Frefefiga sweai w fomm Hif -

frafaRga § @ fedt ot awar & TR Hi
gty =1 Yye ged o % fow g 98 A7
e

1. Gfegn SYuR ®

2. Ul ¥ A T

3. foet -vvrft .g W

4. A feaw ar T 9ty |

ok FEaistl # 4 HH-H TE 2/ ?

(a) had 1

(b) a2 3R 3

© 1,2 334

d) a1 3N 4

72. gd da7 & wew # Frafafea s w faER

Hifore

1. IS o Yo ot o7 d Jaq gEI e
I e G W R, I W IH & dchld
Ugd IATERa da4 i TR & Y & IR
QeI 90 T FHAR 2 |

9. I IS Yash 9 FEENY G W 7, 3iEd
a9 % ®9 § gl I B TheR @ |

3. el freft Y daw g @ da1 & ge=ga
fopan T =1 gIEN TR R A I@H Al H
A 9o A TE R, R weet | @ ot R
sfraa 3o ht g@ H wmn g T 7 s
# T gH A s R, A A I W
afe sy e e R S |

I @ P /AR e T T R/

(@) $ad 1
(b) HIA2 I 3
(¢) had 2
@ 1,29R3



68. Consider the following statements :
The statement of unsanctioned expenditure
details are
1.  items for want of estimate
2.  excess over estimate
3.  miscellaneous expenditure
Which of the above statements are correct ?
(a) 1and2only
(b) 2 and 3only
(¢) 1and3only
d 1,2and3
69. Which one of the following Articles of the
Constitution of India mandates provision of
appropriation bill ?
(a) Article 112(1)
(b) Article 113(2)
(c) Article 114(1)
(d) Article 116
70. Consider the following statements :
Inter-Railway adjustments will be made
s through traffic earnings
2. through diverted goods traffic earnings
Which of the above statements is/are correct ?
(a) 1lonly
(b) 2only
(¢) Neither 1 nor2
(d) Bothland2
SAAI-B-PXM

71.

72.

(29-A)

Consider the following statements :

Periods of employment in any of the following
capacities shall not constitute service for
pensionary benefits

1. on contract basis.

2.  on resignation from service.

3.  in a non-pensionable post.

4.  for period of service treated as dies non.
Which of the above capacities is/are correct ?
(a) 1lonly

(b) 2 and 3only

(¢ 1,2,3and 4

(d) 1and4only

Consider the following statements regarding
leave salary :

L. A Railway servant on half average pay
leave or leave not due is entitled to leave
salary equal to half the amount of
pay before
proceeding on leave.

drawn  immediately

2. A Railway servant on extraordinary
leave is entitled to leave salary as an
average pay.

3. Where the quantum of leave on average
pay already availed of by a Railway
servant who is dismissed or removed
from service or who dies while in service
is in excess of the leave credited in the
half year, the overpayment of leave
salary shall not be recovered.

Which of the above statements is/are not
correct ?

(a) 1lonly

(b) 2 and 3 only
(¢) 2only

(d 1,2and3



73.

74.

75.

SAAI-B-PXM

A & Glu™ % =g 309 H 37, 1 Ja
(Ye) Tom, 1993 ¥ 1 giEds =t Tehal 2 ?
(a) WA 1 TsgUfd

(b) HRA T TAHEA

¢ foawht

@ faitr etk =ma =:ht

Fr=fafaa o w o= Hifm -

et et % aR § ag "wen smom f6 3w

& § wetoran e oA 2, 3 36

1. Ao wlen &f § v fowa & w9 A Il
ot §

2. Afeew wlien & & wremm @ Sefivl i R

3. HgE wr i T g Fem & swa
19 qdten Skl S ot @

4 Aw vhan § B = Iefous fawm &
w9 4 Il o ot ?

39 8 ¥ HH-A1/HH-8 HIF FEl 2/7 ?

(a) haeT1 3 2

M 1,2 334

(c) had 2

d Haa2 3N 3

T YEHfedl (Substantive Promotions) % HeY
# frfafigs 3 @ F-71 F9F @ R ?

(a) @ ¥ @qg ® I @it q@ GQEiaEi
ey, 194 oIS gRT hY St |

(b) I qa1 g ® h afi weEfaal wefa
IeTd & WEl YEUh grI shi ST |

© & ¥@1 R % H aft q@ geEiear
RA & UsUfd gra <hl Sart |

@ I qa1 ggg ® A At g wgEfaar
Hed 1o 989 (DRM) gRT <hl STt |

76.

Frafafaa suH v foamr fif -
“S&” weg 1 Wi €

1. ufvEor srafy

2. HRUEY IE

3. it =afew & &9 § a1 IR @
Ja1 & ¢ TR a1 ST 2

4. fiiendis =t & &9 # a1 3R @
91 & ¢ HEWHh A8l fb TEfiem
foran So

I0 § ¥ HH-9 HYT A B ?
(@) 132
(b) 2 3R3
(¢ 13W4
@ 23R4

77. 9§ 9Yg @ WSl § TIFA GRifAadl & g

78.

(30-A)

foraeh gra amew it ke 9 2 2
(a) Taurmena

(b) W&l YEUH

(c) Wsd W YauH (DRM)
@ eI, I "

Frefafga suai w fa=m Fif -
farg) o TRW g w1 foRw @@ % w1 et S
gohdl & ?

1. 3fgd 94 g3l

2. g fgd dad ggl

3. ISH-wed gal

394 & HH-8 A TH E 2
(a) hae 1 3R 2

(b) HaA2 IR 3

(c) a1 3R 3

@ 1,233



73.

74.

75.

SAAI-B-PXM

Under Article 309 of the Constitution of India,
who can make changes in the Railway
Services (Pension) Rules, 1993 ?

(a) The President of India

(b) Prime Minister of India

(¢) Finance Minister

(d) Minister of Law and Justice

Consider the following statements :

An employee shall be deemed to possess

proficiency in Hindi if he/she has passed

;2 Matriculation with Hindi as one of the
subjects

2. Matriculation with Hindi as the medium
of examination

3. The Pragya Examination under Hindi

Teaching Scheme of the Central
Government
4 Hindi as an elective subject in

Matriculation
Which of the above statements is/are correct ?
(a) 1and2only
(b) 1,2,3and 4
(¢) 2only
(d) 2and3only

Which one of the following statements is
correct regarding substantive promotions ?

(a) All substantive promotions to Railway
services Group ‘A’ shall be made by the
Chairman, Railway Board.

(b) All substantive promotions to Railway
services Group ‘A’ shall be made by the
General Manager of the concerned
Railways.

(¢) All substantive promotions to Railway

services Group ‘A’ shall be made by the
President of India.

(d) All substantive promotions to Railway
services Group ‘A’ shall be made by the
DRM.

76.

717.

78.

(31-A)

Consider the following statements :
The term “Duty” includes

1. Training Period
2. Joining Time

3. Service as probationer and such service
followed by confirmation

4.  Service as probationer and such service
need not be followed by confirmation

Which of the above statements are correct ?

(a) land2
(b) 2and3
(¢ land4
(d 2and4

For officiating promotions in Group ‘B’ posts in
the Railways, order is issued by

(a) Head of the Depértment
(b) General Manager

(0 DRM

(d Chairman, Railway Board

Consider the following statements :
Child adoption leave can be combined with

1 B leave on average pay

2.  half average pay leave

3.  leave not due

Which of the above statements are correct ?
(a) 1and2only

(b) 2 and 3only

(¢) 1and3only

(d 1,2and3



79.

81.
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2w gl Afufrm, 1948 % e\ Wi %

ey A Fafefga sl w fomr fifsw -

1. a9 A9gd, W wE wHE 3R
Ardifes FaHEl % g9y § 90y % I
FRGH, S B AE q GG ST Tehal 2
HYET T 500 T HI JHAT LG SHI |

2. et styan fpisl & oaw & e |
Yy & fIT T 500 T HT AT |

394 A ¥ HE-T1/RE-A HIH T8l 2/8 ?

(a) a1

(b) a2

(© 13K 23gH

@ FALIH2

Jrafas @ R I § g T R g W
Zqﬁ;}mﬁgﬁsm%mamuﬁm

(a) “had eI, o9 9IS

(b) ¥El YEYUH HAYGT Ih gl TAEISd
fre=ar wiftreer

(c) I HSA A Y9°H
d) HIA G&T HIHb ATTHR

frafafgs 4 @ fea e 3cfted” & &9 4§
gitfya fomam mn 2 2

1. Wi woet ot Iserd

2. I Wiepfd i A1 FeET I

3. &M v fewfort s

4. feft s gnEft #1 yeeH

Hr= feu T % w1 TER W A& IW g ¢
(a) had 1 3R 2

(b) HaA2,3 AN 4

(¢) had 1 3 3

@ 1,2,33M4

82.

(32-A)

HE TR ‘B @ I A Ffed W TE
IUER TR H Gehal 8, et e

(a) T 15,000/- 8 31t 7 &1

®) T 5,000-8 At T A

(¢) T 25,0008 3Aftrh 7 &

(d) T 75,0008 Aftrh 7 &

foame, adme, AR tyar aiffs Ia =,

o yafaa o i amfss dfa-fasi &

IEY I9ER U I &, 1 Yo 9 W Ui

et sren Fht st @, e 3as o +E

TTHR AT 7 8, Y8R TR HL Tehdl 2

(a) THR HI Y& g1 ¢ B

(b) EHR H Y& WHid o

(c) TIHR Pl HEARK Gfad Hh

@ wefE ¥ wfipfa dw R 311%: Bl
THR Bl Glad Heh

& gar (=) fem, 1966 & Frfefaa 9 @
FH-a1 m wil eem IufErEed W A
3R @refl A A geftE ? 2

(@ =W 15

b = o15A

© w7

@ a9

forame getf afqeyil & ar d F=fafaa suEi ©w

ﬁaﬂﬁﬁm:

1. 9 Qo= frdt o8 =i @ foam o g
? J1yan faar & fore geegy & g 2,
o vgen Shaanef sfifeq @ |

2. 19 a9, Fme Sfawaeht sifaa 2, fdt
F Afh 9 foa® = wHar & F¥El
foame & fog geag @ @1 2 |

3. & @ 99 fret faceft & faamg == g1
2 e fooe w=ar 8, @ 98 3@ WR A
THI TR I G &M |

IR § A -G /B -A HIF @ 77T 2/% 2

(a) had 1 3R 2

(b) HaA3

(¢) Haa1

(d had13dR 3



79. Consider the following statements regarding

81.

SAAI-B-PXM

penalties under Minimum Wages Act, 1948 :

1. Imprisonment for a term which may
extend to six months or with fine up to
T 500 or both for offence in respect of

minimum wages, normal working

hours and weekly holidays.

2.  For offence in respect of maintenance of
registers or records, a fine up to ¥ 500.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor2

The competent authority to make first
appointment to Group ‘C’ and Group D’ posts
on the Zonal Railways and units is

(a) Chairman, Railway Board only

(b) General Manager or lower authority
delegated by him

(¢) Divisional Railway Manager only

(d) Chief Personnel Officer only

Which of the following are defined as ‘sexual
harassment’ ?

1.  Physical contact and advances

2 Demand or request for sexual favours
3. Making sexually coloured remarks

4 Showing pornography

Select the correct answer using the code given
below :

(a) 1and2only
(b) 2,3 and 4 only
(¢) 1and3only
d 1,2,3and4

82.

(33-A)

A Group ‘A’ Railway servant can accept a gift
on his birthday, the value of which does not
exceed

(a) T 15,000/-
(b) ¥ 5,000/-

() ¥ 25,000/
(d) ¥ 75,000/

On occasions such as weddings, anniversaries,
funerals or religious functions, when the
making of gifts is in conformity with the
prevailing religious and social practice, a
Railway servant may accept gifts from his
near relatives or from his personal friends
having no official dealings with him by

(a) giving prior intimation to the
Government

(b) taking prior permission from the
Government

(¢) giving post facto intimation to the
Government

(d) taking permission from relatives and
then giving intimation to the
Government

Which one of the following rules of Railway
Services (Conduct) Rules, 1966, is related to
sub-letting and vacation of Government
accommodation ?

(a) Rule 15
(b) Rule 15A
(¢) Rule 17
(d Rule19
Consider the following statements on

restrictions regarding marriage :

1. A Railway servant can enter into, or
contract, a marriage with a person
having a spouse living.

2. A Railway servant, having a spouse
living shall enter into, or contract a
marriage with any person.

3. When a Railway servant who has
married or marries a person other than
of Indian nationality, he/she shall
forthwith intimate the fact to the
Government.

Which of the above statements is/are not

correct ?

(a) 1land2only

(b) 3only
(¢ 1lonly
(d) 1and3only



86. We¥H % =R A fr=fafea d @ sH-w1/aH-8

87.
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HU TE B/ ?

1. 9 49% g, ®al Wi, HsEeE oiE |
HIhl gL i o6 MY yeviA % Hew ° 3| W
IuTE S HRaT$ hl I Thdl B |

2. 1@ 49% gWI, HEl ft, IR FEEE TRER
 HH g &, a1 R e & i
foreht +ft @ fohu Q wg9lR & @ew § 39
W SFITEH HRATE I 1 Gehel 2 |

3. o Y% g, +el ft, IR HEieE e
" Hwhl @ A, a1 foelt s & fA
et +ft Twa, 3 g Friwatl Al 2fEa
B o, fhu U weye & dey § 3@ W
FATETh HRATE h S Gl B |

4. & 995 g, +al Ht, IR HEeE 9w
8w @ A, J1 forelt e & fe
et +ft T, I gfem Friwat i 2fEa
' W oft, IR 3w ufafafa w1 fem A
getagy wiaatua nfafaftm & s wfem
B ST 8, @ fohu MU weelt % ey A 3§
W HIIE( HRATS hl 1 Gehell & |

= fou U e w1 TEE W wE W g

() Had 1

(b) a1 IR 2

(¢ Had 1, 233

@ 1,2,33NR4

HRAE @ T dfear & Fefafea d &
-8 Fem § W g qinfea 2 2

(@ FEm 11543)

(b) | 11143)

© T 107(43)

@ T=m 10343)

(34-A)

89.

90.

88. & a1 (=) fEm, 1966 & FEw 2(C) &+

ITER ‘P % G H IRuTr & wed |
frefafiaa 4 @ S9-a1 FoF a8 787 2 2

(a) 1 Qa sl Yot Agar ufd, & ot amen
|, =R 98 1 9% & @Y @dl/Ea 2
ol 7€, fhg s ol Wit ueh
Jroran ufd, Star ot awen &, mive T8 2,
St gEm e e e ey g
™ I W 9UF W Q T3/fem A
& 9 1 Y7 A¥aT G 161 diden gF
Fuar diaeft G, S 39 | qUia: onfa
?, Thg 3ok oirfa Ut @am = diaeh
HaH ke 98 7, S 5 yeR ¥ W
g W tya I8 ® ™ @ W W
afiRen & WA ¥ 1 9% o fhdt fafy
R 1 34 e afed = e = | |
(¢ o1 9a% | A1 1A Y il Il 71 9fa &
w g 1 faew g wEfaa S8 =
=fth, S 1A ¥ YT Uia: A1HE B |
& Y9 ° A1 1A Fash Hl gt I ufd 4
W gl T faar g efta w8 3=
=R, S I Aash W iV ®9 4 3@
&

W™ Far (mew) fEm, 1966 % fmferfaa
Frmt 4 @ Fi9-a1 Fm I G & gfiss et
I TIHR TLEV ITH HIH a1 HH H TSR
=i Sfqafa s | qafta 8 2

(a) T=m3

b FEma

© w5

@ F=me

W "ar (3m=n) fam, 1966 1 F=fafaa o
¥ HH-a1 fm @ 9% H FE-acmwa 3k
Tefiar @ gefe 2 2

(@) fEms5

(b) Fem4A

(¢ TrmsA

@ FEmn

(b)

(d)



86. Which of the following statements are correct
regarding demonstration ?

1. Disciplinary action in respect of
demonstration anywhere, even far away
from office premises resorted to be by
a Railway servant may be taken.

2.  Disciplinary action in respect of
demonstration anywhere, even far away
from office premises and at any time on
a holiday also resorted to be by a
Railway servant may be taken.

3. Disciplinary action in respect of
demonstration anywhere, even far away
from office premises and at any time on
a holiday even in the capacity of the
Trade Union worker, also resorted to be
by a Railway servant may be taken.

4. Disciplinary action in respect of
demonstration anywhere, even far away
from office premises and at any time on
a holiday even in the capacity of the
Trade Union worker, if that activity
could be proved to be one falling within
the prohibitive activities listed in the
rule.

Select the correct answer using the code given

below :

(a) 1lonly

(b) 1and2only

(0 1,2 and 3only

d 1,2,3and4

87. ‘A Railway Servant’ is defined in which one of
the following rules of the Indian Railway

Establishment Code ?

(a) Rule 115(43)

(b) Rule 111(43)

(¢) Rule 107(43)

(d) Rule 103(43)

SAAI-B-PXM

89.

(35-A)

Which one of the following statements is not
correct in context of definition of “Members of
Family” as per the Rule 2(C) of the Railway
Services (Conduct) Rules, 1966 ?

(a) The wife or husband, as the case may be,
of the Railway servant, whether residing
with the Railway servant or not but does
not include a wife or husband, as the
case may be, separated from the
Railway servant by a decree or order of a
competent court.

Son or daughter or step-son or
step-daughter of the Railway servant
and wholly dependent on him, but does
not include a child or a step-child who is
no longer in any way dependent on the
Railway servant or of whose custody the
Railway servant has been deprived by or
under any law.

(¢) Any other person related whether by
blood or marriage to the
Railway servant or to the Railway
servant's wife or husband, and
wholly dependent on the Railway
servant.

Any other person related whether by
blood or marriage to the
Railway servant or to the Railway
servant’s wife or husband, and
partially dependent on the Railway
servant.

Which one of the following rules of the
Railway Services (Conduct) Rules, 1966, is
related to prohibition of employment of near
relatives of Railway servants in a company or
firm enjoying Government patronage ?

(b)

(d)

(a) Rule3
(b) Rule4
(¢0 Ruleb
(d Rule6

Which one of the following rules of the
Railway Services (Conduct) Rules, 1966, is
related to promptness and courtesy for
Railway servant ?

(@) Ruleb

(b) Rule4A
(¢) Rule3A
(d Rulell
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o1, i

AfgeneT 1 SR W A Scdted (e,
yfavy 3k wfeaw) rfafEm, 2013 f g
2(0) % IFITER HRETYSA Bl fha FHR giefia
fepen TN B 2

1. i fawm, @wed, 3uswA, T, 39,
e, HAEE, MG, S hg TR g
wifiq, Taficardiw, FEsondiE seEn
TIH A1 WE 9 F egH H 7E Fify g
qUid: teET i &9 & foaaifva ? |

2. AT HAYST AT B |

3. ufdeor, et SA¥ar 399 gafva fshamepeny
% fou vy wE shrer wem, wfem,
e |

4. HUEd g, FEeE % fow sy sas
A et Wt e B amn, e W@
IE1 FH h foIe P grI Iuetsy 8
T$ witaed gl wmidet 2 |

5. Tiam T 31¥e S EM |

9k oAl § A B8 T E ?

(a) hael 1 3 2

M) 1,2,8,43W5

() Had2,3 IR 4

(d Hae1,4 3JN5

92. 1@ Yo (FFUEH TS i) FEm, 1968 &

93.

(36-A)

st fowrfa se =@ & fou s stfteerd
# fgfe ¥ oo FeEgdi o wdl &+ 3ER
frafefga & @ Ha-a1 wu= @& 777 2 2
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e qlieror Y yEvEHal 8, @ 98 @izt =
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?, Forees fore i & o1gar 98 @am g ?

(@ w102
b | 1001)
(© f=mi1119)
@ f=| 113

(b)

(c)

(d)



91. Consider the following statements :

As per Section 2(0) of the Sexual Harassment

of Women at Workplace (Prevention,

Prohibition and Redressal) Act, 2013, the

workplace is defined as

118 any department, organization,
undertaking, establishment, enterprise,
institution, office, etc., established,
owned, controlled or wholly or
substantially financed by funds provided
directly or indirectly by the Central
Government.

2. Hospitals or nursing homes.

3 any sports institute, stadium, etc., used
for training, sports or other activities
relating thereto.

4. any place visited by the employee
arising out of or during the course of
employment, including transportation
provided by the employer for
undertaking such journey.

5. A dwelling place or a house.

Which of the above statements are correct ?

(a) 1,and 2 only

() 1,2,3,4and5

(¢) 2,3 and4only

(d 1,4and5only

SAAI-B-PXM

92.

93.

(37-A)

Which one of the following statements is not
correct as per the terms and conditions for
appointment of Inquiry Officers to conduct
Departmental Inquiry, under Railway
Servants (Discipline and Appeal) Rules, 1968 ?
(a) The Inquiry Officer should not be more
than 70 years of age on the first day of
July of the year of his empanelment.

(b) The panel will be reviewed every year.
The RIO will be de-empanelled
on attaining the age of 70 years.
However, he will be allowed to complete
the ongoing Departmental Inquiries
already entrusted to him, even if he
has crossed the age of 70 years.

(¢) Inquiry proceedings will be conducted
only in the office premises of
the concerned Railway so allotted to the
Inquiry Officers. A room with furniture
and lockable almirahs, will be allotted to
Retired Inquiry Officer in the concerned
office on the days of Inquiry.

(d) The Inquiry Officer shall be free to
engage himself/herself in any
other professional work or service, which
is likely to interfere with
the performance of his/her duties as
Inquiry Officer. He/She should be
in sound health, physically and
mentally.

Which one of the following rules of the
Railway Servants (Discipline and Appeal)
Rules, 1968, inter alia lays down that if the
disciplinary authority is of the opinion that
further examination of any kind of the witness
is necessary in the interest of justice, he may
recall the witness and examine, cross-examine
and re-examine the witness and may impose
on the Railway servant such penalty, as is
within its competence in accordance with
Rules ?

(a) Rule 10(2)
(b) Rule 10(1)
(¢) Rule 11(4)
(d) Rule 11(3)
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95.
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(b) F=BT 311(1)
(0 3IT=a% 311(3)
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(38-A)
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WY ‘AT 9F % AHA § VET I TS
e T8 g R |

2. W« d% Witk WA weaw 7 & 6
Wi @mg & S =ifee, JEE wEd
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Hi= feu U e 1 FEET W FE W AT -

(@) 132

(b) I 2

() Had3

d 383M4
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Which one of the following is neot correct as
per the model timeline issued by CVC and
DoPT for disposal of minor penalty cases ?

(a) Issue of charge memorandum : One
month from the date of receipt of CVC

advice.

(b) Delivery of charge memorandum to the
official: 10 — 15 days from the date of

issue.

(¢) Submission of statement of defence:
10 days from the date of receipt

of charge memorandum.

(d) Issue of final orders: 55 days from the

receipt of defence statement

Which one of the following Articles of the
Constitution of India says that, ‘No person
shall be dismissed, or removed or reduced in
rank except after an inquiry in which he has
been informed of the charges against him and
given a reasonable opportunity of being
heard’ ?

(a) Article 311(2)
(b) Article 311(1)
(¢) Article 311(3)

(d) Article 311(7)

(39-A)

Which of the following statements is/are
correct regarding Show Cause notice and/or
Charge Sheet ?

L A ‘Show Cause’ notice is a provisional
decision which is served upon an
employee when it is supposed to impose
a penalty on him. But in case of ‘Charge
Sheet’ no such proposal is involved

2. ‘Charge Sheet’ is issued before the
authority is not sure of itself that
whether a penalty is at all called for,
while a ‘Show Cause’ is issued when the
authority has decided to impose the
penalty and only seeks to have
employee’s remarks on quantum of
penalty.

3. A ‘Show Cause’ notice is a final decision
which is served upon an employee when
it is supposed to impose a penalty on
him.

4. ‘Charge Sheet’ is issued before the
authority is not sure of itself that
whether a penalty is at all called for,
while a ‘Show Cause’ is issued when the
authority has not decided yet to impose
the penalty and there is no need to seek
employee’s remarks.

Select the correct answer using the code given
below :

(@) land2
(b) 2only
(¢) 3only
(d 3and4
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Had 1

had 1 3R 2

Had 3

1,2 3R 3

(a)
(b)
(c)
(d)

Frafafga St w foem i

& G SRl i gafd T8 i, v,
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FHA # |
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1 3R 2 gHi

I LA

Fad 1

Had 2

(a)
(b)
(©
(d)

99.

100.

(40-A)
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(b)

(©
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Which of the following statements is/are not
correct regarding Suspension Order and/ or
Charge Sheet ?

should normally
indicate the grounds for suspension.

1.  Suspension Order

2.  Where the suspension is on grounds of
contemplated proceedings, Charge Sheet
should be served upon the Government

servant within 3 months.

3.  Where Charge Sheet is not served

within 1 month, the suspension
will lapse.

4. Charge Sheet should be issued
irrespective  of whether criminal

investigation proceedings are pending.
Select the correct answer using the code given
below :
(a)
(b)
()
(d)

1 only

1 and 2 only
3 only
1,2and 3

Consider the following statements :

Common proceedings are not permissible

where

1. two accused are both Railway
and Central/State Government
employees.

2.  one is in service and other has retired.

Which of the above statements is/are correct ?

(a) Both1land2
(b) Neither 1 nor 2
(¢ 1lonly

(d 2only

100.

(41-A)

Consider the following statements :
Disciplinary inquiry is not necessary in the

case

1 When the Railway servant is convicted
by a court of law on criminal charge and
action to dismiss, remove or reduce
an employee is to be taken for his
conduct leading to such conviction.

2. When the departmental authority has
passed an order against the employee.

Which of the above statements is/are correct ?

(a) Bothland2

(b) 1lonly

(¢) 2only

(d) Neither 1 nor2

Which one of the following statements is not

correct regarding appeals ?

(a) Notwithstanding anything contained, no
appeal shall lie against any order made

by the President of India.

(b) Notwithstanding anything contained, no
appeal shall lie against any order of an
interlocutory nature or of the nature of
step-in-aid of the final disposal of a
disciplinary proceeding, other than an

order of suspension.

(¢) Notwithstanding anything contained, no
appeal shall lie against any order passed
by an Inquiry authority in the course of

an inquiry under Rule 9.

(d) Notwithstanding anything contained, no
appeal shall lie against any order
of suspension made or deemed to have

been made under Rule 5.
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(a) RITES
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101.
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103.

104.

The cost of a temporary experimental work is

chargeable to

(a) open line works revenue when costing
less than ¥ 1 lakh

development fund when costing more
than ¥ 1 Lakh

revenue
capital

(b)

(c)
(d

The budget order includes

(a) voted grants approved by Parliament
only.

the authorization of  incurring
expenditure to certain extent over
and above the allotment sanctioned by

(b)

Parliament.

(¢ the budget and appropriation for
charged expenditure approved
by Parliament/President of India.

(d) spending limits laid down by
Parliament.

Which one of the following statements is not
correct regarding earnest money ?
(a) Earnest money should be in cash.

(b) Earnest money should be in the form of
pay orders.

(¢) Earnest money should be in the form of
bankers cheque issued by any bank.

(d) Earnest money should be in the form of

bank guarantee issued by any bank.

Which one of the following does not constitute
part of debits to the provident fund accounts ?

(a) Final payments to the staff including
final withdrawals

(b) Temporary advances

(¢) Miscellaneous adjustments

(d) Subscription including arrears of

subscription from subscribers

105. The term of office of members of the Estimates
Committee is
(a) one year
(b) two years
(¢) five years
(d) three years
SAAI-B-PXM

106.

107.

108.

(43-A)

Which one of the following statements is
correct regarding Railway transactions ?

The transactions between the same
Railway and between the
two Railways are known as
inter-Railway transactions.

(a)
those

(b) The transactions between the two units
of same Railway and those between the
two Railways are known as
intra-Railway transactions.

(¢) The transactions between the two
Railways and those between the
two units of same Railways are known
as capital transactions.

(d) The transactions between the two units

of the same Railway are known as
intra-Railway transactions and those
between the two Railways as inter-
Railway transactions.

Which one of the following is not a public
sector enterprise of the Ministry of Railways ?

(a) RITES
(b)
(©

(d)

IRCTC
DMRC
CONCOR

What is Re-appropriation ?

(a) To take appropriate steps for rectifying a

financial mistake

(b) To restore the funds meant for a
particular project

(¢) To sanction fresh funds for expediting a
project

(d) To transfer funds originally assigned on
a specific object to supplement the funds

sanctioned for another object
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Consider the following statements :
The objective of Indian Railway Finance
Corporation is

& to manage the finance and expenditure
of Indian Railways.

2 to grant loans to the Railway production
units and construction organizations.

3. to raise money from the market, based
on the requirement of the Ministry of
Railways.

Which of the above statements is/are correct ?

(a) 1and2only
(b) 2only

(¢0 3only

d 1,2and3

The staff benefit fund is noet meant for which
of the following ?

1. To provide financial assistance to staff
who are undergoing the punishment of
stoppage of increments/cut in pension.

2. To
Gazetted staff for recreational purposes.

afford some amenities to non-

3. To afford some amenities to Gazetted
officers for recreational purposes.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2 and 3only

(¢ 3only

(d 1,2and3
SAAI-B-PXM

111.

112.

113.

(45-A)

Which of the following types of cases is/are
transferred to call book ?

i A current case, reached a stage when no
action can or need be taken to expedite
its disposal for at least 6 months.

2. Closed cases in which a review is
contemplated after a period of 6 months
or more.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢) Neither 1 nor 2
(d) Both1land2

In accordance with the provision of which one
of the following Articles of the Constitution of
India, did Hindi become. the official language

of the Union in the year 1965 ?
(a) Article 341
(b)  Article 342
(¢c) Article 343
(d) Article 344

Which of the following statements are correct

regarding draft ?

1k A draft should carry the message in a
clear and concise language.

2. A draft should not carry superlatives or
repetition of words.

A draft should carry lengthy sentences.

A draft should carry repetition of ideas
to make the matter more concise.

Select the correct answer using the code given
below :

(a)
(b)
(©
(d

1 and 4 only
1 and 2 only
3 and 4 only
2 and 3 only
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In correction slips to Codes, reference to
Board’s letter number and date under which
the correction slip was initially notified to the
Railways, should be quoted

(a)
(b)
()
(d

in the beginning
in the middle
at the bottom

at the top right corner

Which one of the following is the written
recorded paper

under consideration to facilitate its disposal ?

remarks on a

(a) Minute
(b) Note
(e EA

(d) Draft

Non-postal communication should be sorted
out in
(a)  Dock books
(b)
(©

(d)

Dispatch books

Issue books

Messenger books

Under the conventional system, the lowest

organizational unit in a Department/Ministry

is

(a) Directorate
(b) Branch
(¢) Section
(d) Wing
SAAI-B-PXM (47

118.

119.

120.

mA)

Which one of the following is the process of
making entries in the notes portion of a file
about each serial number in the
correspondence ?

(a) Docketing
(b) Punching
(¢) Numbering
(d) Filing

Consider the following statements :

Staff representatives in official council is/are
nominated through the recognized association
of

1 RBSS Class II officers association

2. RBMSA of Non-Gazetted Group ‘C and
Group ‘D’ association

3 RB Class IV staff association
Which of the above statements is/are correct ?

(a) 1and2only
(b) 2only

(¢0 3only

d 1,2and3

What is a cut motion ?

1. A proposal moved by the Ministry of
Finance to impose a cut on the
expenditure of a particular Ministry or
Department.

2. A proposal moved by a Ministry or
Department to the Parliament, opposing
a cut imposed on its expenditure.

3. A proposal moved by a Member of the
Lok Sabha to the Lok Sabha, for cut in
an individual demand in the budget.

Select the correct answer using the code given
below :

(a) 1land2only
(b) 1lonly

(¢) 3only

(d 1,2and3
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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
plgc:ts. in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.

Each item comprises four responses (answers). You will select the response which you want to mark

on the Answer Sheet. In case, you feel that there is more than one correct response, mark the

response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions

in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,

you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to

take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for

that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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